Principles of Economics|: Microeconomics Final [1/16/2009]
Part 1. Multiple Choice (15 questions, 30%)

1 -~ Joe wants to start his own business. The busineswsamts to start will require that he
purchase a factory that costs $400,000. Joe clyrbas $500,000 in the bank earning 3
percent interest per year. Suppose Joe purchaséadiory using $200,000 of his own money
and $200,000 borrowed from a bank at an interdst 08 6 percent. What is Joe’s annual
opportunity cost of purchasing the factory?

A. $3,000
B. $6,000
C. $15,000
D. $18,000

2 ~ Suppose a firm in a competitive market reduce®utput by 20 percent. As a result, the
price of its output is likely to
A. increase.
B. remain unchanged.
C. decrease by less than 20 percent.
D. None of the above is correct.

3~ Suppose you bought a ticket to a football game$®9, and that you place a $35 value on
seeing the game. If you lose the ticket, then whdhe maximum price you should pay for
another ticket?
A. $5
B. $30
C. $35
D. $65

4 ~ When a certain monopoly sets its price at $8 s units. When the monopoly sets its
price at $10 it sells 60 units. The marginal reefar the firm over this range is
A. $2.
B. $8.
C. $22
D. $88.

5+ Consider a small town that has two grocery star@® fwhich residents can choose to buy a
gallon of milk. The store owners each must makea@sibn to set a high milk price or a low
milk price. The payoff table, showing profit per eke is provided below. The profit in each
cell is shown as (Store 1, Store 2).

Store 2

Low Price High Price
Low Price (500, 500) (800, 100)
High Price (100, 800) (650, 650)

Store 1




What is the Nash Equilibrium of this price-settmame?
A. Grocery store 1: Low price Grocery store 2: Low price
B. Grocery store 1: Low priceGrocery store 2: High price
C. Grocery store 1: High priceGrocery store 2: How price
D. Grocery store 1: High priceGrocery store 2: High price

6 ~ Consider the diagram below which shows the marketahd curve for a particular product.
Suppose this market is served by two duopolists @duh face the marginal cost curve shown
in the diagram. The marginal revenue curve thabaapolist would face in this market is also

shown. Which of the following statements is true?
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A. The total output in this market will likely be @nits when the market is served by a
duopoly.

B. The price in this market will likely be $6 whéme market is served by a duopoly.

C. The total revenue to each firm will likely be radhan $16 when the market is served by
a duopoly.

D. The total output in this market will likely beds than 4 units when the market is served
by a duopoly.

N

7 ~ When a profit-maximizing firm in a monopolisticalljompetitive market charges a price
higher than marginal cost,
A. the firm must be earning a positive economidipro
B. the firm may be incurring economic losses
C. there is a deadweight loss to society, but iéxactly offset by the benefit of excess
capacity.
D. new firms will necessarily wish to enter the Retrin the long run.

8 ~ Which of the following best describes the idea afcess capacity in monopolistic
competition?
A. Firms produce more output than is socially desi.
B. The output produced by a typical firm is lesarttwhat would occur at the minimum
point on its ATC curve.
C. Due to product differentiation, firms choosepuitlevels where P > ATC.
D. Firms keep some surplus output on hand in dase tis a shift in the demand for their
product.



9 » Which of the following best illustrates the conceptderived demand?"

A. An increase in the wages of auto workers widdeio an increase in the demand for
robots in automobile factories.

B. An automobile producer's decision to supply mcaies will lead to an increase in the
demand for automobile production workers.

C. An automobile producer's decision to supply nmmigivans results from a decrease in
the demand for station wagons.

D. An increase in the price of gasoline will leadan increase in the demand for small cars.

’

10 - Consider the labor market for heath care worketschvis in equilibrium. Because of the
aging population in the United States, the outpigepgfor health care services has increased.
Holding all else equal, what effect does this hawethe labor market for health care
employees?

A. The equilibrium wage increases, and the equulibrquantity of labor increases.

B. The equilibrium wage increases, and the equuiibrquantity of labor decreases.

C. The equilibrium wage decreases, and the equifibguantity of labor increases.

D. The equilibrium wage decreases, and the equifibquantity of labor decreases.

11

’

Which of the following examples best illustratesoanpensating wage differential?

A. Sara and Tom are each 30 years old. Tom earns tnan Sara because he has 8 years of
work experience, whereas Sara only has 4.

B. Sara earns more than Tom because she has ddracldegree, whereas Tom has an
associate's degree.

C. Sara earns more than Tom because Sara is ancaleengineer, whereas Tom is a fast-
food worker.

D. None of the above is correct.

’

12 - A college degree makes a person more productivaaiog to
A. both the human-capital and the signaling thesooieeducation.
B. the human-capital but not the signaling thedrgducation.
C. the signaling but not the human-capital thedrgducation.

D. neither the human-capital nor the signaling tiied education.
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Why is a plumber never likely to be as rich as aimastar?

A. Compensating differential creates a higher wiagbe movie business.

B. There haven't been any significant technologacisfances in the plumbing industry.

C. Productivity levels are low in the plumbing irstity due to low worker morale.

D. A plumber can provide his services to only aite number of customers.

14 -~ Employers can try to overcome the moral-hazardlprmbnvolving their employees by

A. paying their employees more often.

B. paying their employees below-equilibrium wagexes the employees will likely shirk
some of their responsibilities.

C. better monitoring their employees' work efforts.

D. requiring their employees to take a pre-emplayimeork effort test.



15~ Screening occurs when

A. an informed party acts to reveal his privat@miation.

B. an informed party acts to conceal his privaferimation.

C. an uninformed party acts to induce the inforpady to reveal private information.

D. one informed party acts to prevent another mft party from revealing private
information.

Part I1. Economicsin the News

A. (20%) Foreign Labor Market for High Skill Worlger

Suppose highly educated workers from country Daieam participate in two labor markets:
the domestic market and the foreign worker mankedBeeKok. Foreign workers who work
at BeeKok are covered by a binding minimum wage law domestic workers are not.

1. (4%) Draw a diagram for each of these marketghdsinding minimum wage higher or
lower than the equilibrium wage of the domesticket? Is there a shortage or surplus in
the foreign worker market in BeeKok?

2. (2%) If you were a Daiwan worker, what is the maximyou are willing to pay to get a
chance to work in BeeKok? Indicate with segmentyaur graphs.

3. (4%) Suppose there is a quota of foreign workard,there is only one middleman
company who can apply for Daiwan workers to worBaeKok, how much would this
company be charging the workers who want to appig® much would the Daiwan
workers be actually earning (net pay)?

4. (6%) Suppose the BeeKok government lowers the miminvage for foreign workers in
BeeKok. Indicate on your graphs how
i. actual wages earned (net pay) in both markets,

ii. the number of Daiwan workers in BeeKok,
iii. the amount charged by the monopoly middleman compaould change.

Would the shortage or surplus in BeeKok’s foreigirker market increase or
decrease? Who will be happy about this policy?l &viyone be unhappy with this
policy? Explain. (Note: You would have to takéiaccount how the decreased
minimum wage in the foreign worker market wouldeaffthe domestic market.)

5. (2%) How much would the middleman company chargkedafminimum wage drops to
zero (non-binding)?

6. (2%) The BeeKok government wants to increase thtaweeof foreign Daiwanese
workers in BeeKok. Would you suggest raising ovdang the minimum wage? Why?

B. (24%) QOil Prices and the Cartel of Oil

Read the following article:
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Answer These Questions:

1.

(4%) Why did oil prices drop significantly in thexgt few months? Is it a shift in the
supply, demand, or both? Assume OPEC is a caitklamMixed quota set at the original
monopoly quantity. Draw a diagram to show how #ifected oil price and quantity.
(6%) What is the effect of OPEC reducing productionthe oil market? How do you
think OPEC would set their new level of productionfidicate this and its effect on
equilibrium oil price and quantity on the diagraboge (or on a new diagram).

(4%) Why would the effect of OPEC’s production retion be delayed? Name at least
two possible reasons listed in the article above.

(4%) Why would Saudi Arabia want to ask Iran anch&auela to not only agree on a
reduction, but also enforce such a reduction? driqular, explain how one country
could free ride other country’s reduction in oibguction and earn more profit by not
reducing its own production.

(6%) Write down the payoff table for the game pthysy Saudi Arabia and “the other
countries in OPEC,” in which each of the playerside to either exactly follow the
reduction proposal (follow), or do not exactly @Ml it (cheat). Find the Nash
equilibrium of the game. Do players follow or ch&aequilibrium? (Hint: You may
make up your own numbers, but them be consistethttiwe situation described above.)

C. (30%) Airline Pricing for Cross-Strait Routes

1.

(2%) How much gallons of fuel does the Boeing 700ER aircraft need to stay in the
air for one minute? You may use the following mf@ation regarding B777 (taken from
Wiki):* B777-300ER’s fuel tank capacity is 47,890galloiasgest distance per flight is
5500 miles at a speed of 500 mph.

(1%) According to Taiwan CPC’s websftas of 2008/7/1, Taiwan CPC sold 1 gallon of
fuel for US$4.12. What is the fuel cost for flyilgminute? Report your answers in NT
dollars assuming the exchange rate is US$1 = NT$33.

! See the Wikipedia entrinttp://zh.wikipedia.org/wiki/%E6%B3%A2%E9%9F%B3777
2 Seehttp://www.cpc.com.tw/big5 BD/tmtd/ListPrice/ShowsTioryPrice 04.asp?pno=156




3. (4%) Consider the airline company EUA air (not eodonfused with EVA air), providing
service from Taipei (TPE) to Shanghai (PVG) using Boeing 777-300ER. There are
two routes: the old route stopping by Hong Kong (B()K and a new direct route.
Suppose for eacbne-way flight, the total cost iIFC = FC + VC(q), including a fixed
costFC and a variable co3tC(q) = cq whereq is flight time, andc is the unit cost for
fuel calculated above. Read the following artatel calculated the total cost for the old
route (via Hong Kong) and the new route (direagHt) when the fuel prices is $4.12.
Report your answers in NT dollars assuming the angh rate is US$1 = NT$33.

NOTE: For simplicity, you may assume that EUA has same cost structure as China
Airlines when they both flew the old route. N&C(240) = TC * 50%.
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4. (5%) Like EVA airlines, EUA’s B777-300ER has 42sfirclass seats, 63 business class
seats, and 211 economy class séaBnce first class seats sell three times theepraf
economy, and business class seats sell two tineegrite, how many equivalent “seats”
can EUA sell per flight? What is thame-way average cost (in NT$) per “seat” for the
old and new route?

5. (2%) Suppose the ticket price for rmund trip between Taipei and Shanghai is
NT$25,000. What is the profit (in NT$) per “seédr a round trip) if EUA flies the new
route? What if EUA flies the old route?

6. (4%) According to the following paragraph, how muwth oil prices change recently?
What would be the new unit cost for fuesl Calculated thene-way total cost (in NT$)
for the old route (via Hong Kong) and the new roalieect flight) based on this new fuel
price.

NOTE: For simplicity, you can use this informatigks of 2009/1/1, Taiwan CPC sold 1
gallon of fuel for US$1.60.
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7. (4%) Based on the new fuel price, what is dhe-way average cost (in NT$) per “seat”
(for a round trip) for the old and new route? Wisathe profit (in NT$) per “seat” when
EUA flies the two routes?

% Seehttp://www.evaair.com/NR/rdonlyres/D28BDB99-0386B62BC05-5C541D7E5A1B/0/B777_300.jpg




8. (2%) Do your answers agree with the following paaphs? Why or why not?
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9. (2%) Read the following paragraph. What are pdssigasons why airlines like EUA
would not lower their ticket prices even after tlssyitched to the (cheaper) new route?
(Hint: Would you prefer a direct flight?)
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10.(4%) What is the marginal cost of boarding anogh@ssenger when the plane is full?
What is the marginal cost if the plane is not fulbw would this change your answers
to the previous questions? (Hint: Consider whatketastructure is the airline market,
and how firms determine their price and quantithiat market structure.)

D. (16%) Governmental Employees Responding to linces

Read the following article:
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Answer the following questions:

1. (3%) According to this article, do you think goveraental employees work harder than
workers of private companies? Why or why not? \Wibyyou think the government can
“afford” this difference?

2. (2%) Taichung County government had to ask its eggss to obtain the amount of time
needed to process each case. Given the possiequences, how would government
employees respond to such inquiry in the future?

3. (3%) What are the possible cures scholars suggetite article? Can you think of
possible problems these cures may create?

Read this follow- up article
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Answer the following questions:

4. (2%) The goal of a private company is to make pfofiits owner. Does the government
have a similar goal that could be evaluated ohjelitt Why or why not?

5. (4%) What would happen if we require the governmentfire at least 5% “non-
performing” employees every year? Why do you tHek governmental employees are
fired in the current system (where nobody is fifed)

6. (2%) In the final paragraph, a police officer sugfjgeone should implement a “mutual
evaluation system” which he thinks is “fair.” Whattential problem would a “mutual
evaluation system” induce? Can you think of adyatiechanism?



